Key to examples:

1) Evaluate 4a - 2b* ifa= andb = -3 Key to Ch. 5 Expressions

4(3) - 2(-3)
4(23) - 29)
3 -18
3+ -18
-15

2) Circle the examples of like ferms:y Tpue or False ? For the algebraic

expression 7x - 2 + by - 6x

9y and 2y* ___7 is a coefficient (T)

___bis a constant (F)
3 and 3x 7x and 6y ____-2 is a constant (T)

____ 5 is a coefficient (T)

ab and -3ab>)  There are three terms (F)

Study Guide

Wit laebrai
expression with the
following characteristics:
three terms

two like terms

a constant of 5

a coefficient of -3

ANSWERS VARY
Example: -3x + 4x + 5




Key to examples:

3) Write algebrai ions for 1}
following:

n-3 three less than a number "n"
2n twice a number

4g + 3 the total cost of renting bowling
shoes for $3 and playing "g"
games for $4 per game

the sale price for an item that
is marked 25% off a regular
price of “j" dollars

4)

Find the next three numbers in the
sequence 4,8,12,16,20,24.28

Wri implified alaebrai
expression for the perimeter of a

rectangle whose length is (2x + 3)
and width is (x + 2)

P=2+2w

P = 2(2x+3) + 2(x+2)

P = 2(2x) + 2(3) + 2(x) + 2(2)
P=4x+6+2x+4
P==6x+10

Aaron is (bx + 2) inches
tall and Ben is (8x - 3)
inches tall. Write a
implified alaebrai

expression for how much
taller Ben is than Aaron.

(8x-3)-(5x+2)
8x+-3+(-1)(5x+2)

8x +-3 + (-1)(5x) +(-1)(2)
8x + -3 + -Bx + -2

3x + -5

3x -5

Find the value of the nth term of this sequence:

2,4,6,8,10,... @




Key to examples:
(6x + 2) + 2(4x + 1)

6x + 2 + 2(4x) + 2(1)

IE +A+ 8x +A

14x + 4

3(2x + 4) 4 - (3x - 2) + 8x

3(2x) + 3(4) 4 + -1(3x + -2) + 8x
4 + (-1)(3x) + -1(-2) + 8x

6x + 12 8x

6x -y +9 - 8x -2y

6x

L.

-8x

-2x + -3y +9
-2x - 3y +9

VAN

-8(x + 2) - 4(Bx - 3)

-8(x) + -8(2) + -4(bx + -3)
-8x + -16 + -4(5x) + -4(-3)

+@

7(8.99)

7(9.00 - 0.01) 4(30 + 6)
7(9) - 7(0.01) 4(30) + 4(6)
63 - 0.07 120 + 24

62.93 144

2(4) + 2(3)

8 +1
9




les:
Identify the property that was used:

ey to Exa

Distributive Property

Commutative Property
Multiplication Property of Zero
Identity Property of Multiplication
Associative Property of Addition

5(09) +2(9) = (5 + 2)(9)
9(8) = 8(9)

x(0)=0

1(6x + 3) = 6x + 3

2+ (3+10)=(2+ 3)+ 10

8) Find the GCF and these linear expressions. (See p.416-417)

Eactor completely if possible: 8x(2 + x) =
Not Factorable 4x + 7y

16x + 8x° 3(6x + 1) = 15x + 3

8g(3h - 5) = 24gh - 40g

9) Circle the equivalent expressions. Show how you know they are or are not equivalent

x -1=1-7x

Subtraction not commutative

SRR T

Subtraction is the same as
adding the opposite

4x + 8) = B(x +
2(4x) + = 8(x) + 8(2)
8x + 16 = 8x + 16

-ly + 4

4-y

Identity Property of Multiplication

-4 -y=-1y - 4)
Choose the right side to simplify
-1(y + -4) Change - to + -
-1(y) + -1(-4) Distributive property = -5x + 3 (commutative)

8 + (4 + 3) = 8(4) + 8(3)

Distributive property needs two operations

< Hx + 3 = 3 - bx

= 3 + -5x (Def of subtraction)

4 + -y (commutative property
(definition of subtraction)

Not the same as -4 - y



More Practice (Mixed Concepts) @

10) Find the 6CF of
12a% and 9a

11) Name the coefficient(s)
in this algebraic expression:

12) Which of these are like
terms?

13) Completely factor this
expression:

1bx + Bx

property to evaluate this
-6(5 + -9)

expression:

Z6(5) + -6(-9)
30 + 54
24

8x -y+3 a and 7 8n and 2n? 24ab + 18a
8x + -1y + 3
G D | @
8 and -1 2ab and 3a (4y and 10y)
14) Simplify: 7x + x + 2x 15) Completely factor: 16) Use the distributive 17) Simplify:

(x + 3) -2(x - )

1x + 3 + -2(x + -H)

Ix + 3 + -2(x) + (-2)(-b
Ix+ 3+ -2x+ 10
-1x + 13

X + 13

18) In the sequence
0.3, 0.6, 0.9

A) Find the next two terms

Eﬂdd 0.3 to previous ter'rn]

12 15
B) Write an algebraic

expression for the n-th term
ist 1(0.3)- 0.3
2nd 2 (0.3) =0.6
n-th n(0.3) = 0.3n

19)Find the perimeter of this
rectangle: 10x

2x

0
1]

10x + 2x + 10x + 2x

24x

20) Which of the following
meet all of these
conditions?

I have 3 terms.

I have a coefficient of -7
I have a constant of 2
Two of my terms are "like
terms"

A) 2a - 7a + ba
B) 2 -7x+ 3+ 7x
C) -7 +2a+10

D) 7x + 2

E) 12x -7x + 2




More Practice (Mixed Concepts)

GD,

21) Show how to
find the
perimeter of this
rectangle. Give
final answer in
simplified form.

2x + 3

Ox - 1

(P’: 2l + 2w

2(2x + 3) + 2(9x - 1)
2(2x) + 2(3) + 2(9x + -1)
4x + 6 + 2(9x) + 2(-1)
4x + 6 + 18x + -2
22x + 4

U O O O
1]

22) Simplify:
-ITx -y+6+x-8y-2

iy @ e 2 -Q

23) Simplify:
-9(x + 4) - B(x - 3)

-9(x + 4) + -B(x + -3)

-9(x) + -9(4) + -5(x) + -5(-3)

2@ 2@

24) Show how to use the distributive
property to do mental math to figure
out the value of 4(2.08)

4(2.08) - 4 (2 + 0.08)
4(2) + 4(0.08)
8 + 0.32
8.32

-6x + -9y + 4
-14x + - 21
-6x - 9y + 4
S,
25) Show how to use the distributive 26) Simplify:

property to do mental math to figure
out the value of 8(26)

8(20 + 6) = 8(20) + 8(6)
= 160 + 48
= 208

3(-6x + 1) - 5(-9x - 2)

ﬁéx + 1) + -B(-9%x + -2) \

3(-6x) + 3(1) + -B(-9x) + -B(-2)

ﬁ(+@+ﬂ+

k27x+13 }




